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Surface Area of a Cylinder

When finding the surface area of a cylinder, you still have to find the
area of the faces then add them. However, what are the shapes of the faces?

radius .
The top and bottom are botk S \ € dﬁ S

If you unroll the curved face of the cylinder, you will get a

ng—w(\;}&

One side of the rectangle is the_height of the cylinder,
and
the other side of the rectangle is the circumference of the circle

height

Step 1) Find the area of the circle
Step 2) Find the circumference of the circle
Step 3) Find the area of the rectangle A = bxh

= circumference x h

Step 4) Find the Total SA = 2Circles +Rectangle
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Step 1) Find the area of the circle
Step 2) Find the circumference of the circle
Step 3) Find the area of the rectangle A =bxh
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Find the surface area m
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Surface Area of a Cylinder

When finding the surface area of a cylinder, you still have to find the
area of the faces then add them. However, what are the shapes of the faces?

(I

The top and bottom are both circles.

If you unroll the curved face of the cylinder, you will get a
rectangle. One side of the rectangle is the height of the
cylinder, and the other side of the rectangle is the

circumference of the circle

Top and Bottom Curved Face -

12 cm
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=ft xd r=38
=3.14x 16 d=16
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